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AA: JUN: ATLLUU:

G +3)- GF+s-
(_%)(—2) _ % _ (§)<—2> _ % _
() +(3)- G+ =
27— (9)- 2=
CREFS D= (3)=
(3 5= ()P + ()=
3P+ (2)= (55
GF ()~ -5~
- P (5)=
-3 - (3)+ ()
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fia: UN - ATULUY:

2., 32 3, 1 14
(5) ( 5) 5 (5) 5 25
1 1 17 1 3 3 98 8
Lt Pt 22 _ 2 _7%_,°
( 3) 2 2 82 (5) 5 45 245
1, 32 Iy, 3 18 .3
YV H+(—=)= — — + — = — =3—
(5) ( 5) 5 (3) 5 5 35
2, 1.9 3, 1. 6l
=3) (5_25 3" =P = 100
1 1 17 5 3 1 7 1
en 1,0 N N
3, 1 ] 1 1 15 3
( 4) ( 27 16 ( 2) ( 4’ 4 34
3 1 47 11 ] 1 179 4
N oA, Ay LN Lo
( 5) ( 6) 18 218 ( 6) 5 5 355
3, 117 1 3y 171 26
(4) ( 27 16 116 ( 4) 5 45 145
3, 3 21 5 Ly 1033
( 4) ( 4 _16'_116 ( 4) ( 27 2 _162

ey 2 2803 2
COTN D=5 () =(2)
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